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Name: 

Daily Word Problem

E-136

answer: ____________________

Three boxes are being shipped on a freight train. Their 
dimensions are shown below.

What is the total volume, in cubic feet, of all three boxes?

Show your work.

7 ft

6 ft

8 ft

3 ft

3 ft

12 ft 6 ft

14 ft

6 ft



Daily Word Problem
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Name: E-137

Kimora bought 5 yards of craft cord to make bracelets. She 
needs 20 inches of cord to make 1 bracelet. How many 
bracelets can Kimora make if she uses all of the craft cord? 
Remember, 1 yard equals 3 feet, and 1 foot equals 12 inches.

Show your work.

answer: ____________________



Daily Word Problem
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Name: E-138

Andre's class voted on a location for a field trip. 1/6 of the 
class voted for the zoo and 7/1  of the class voted for the art 
museum. The rest of the class voted for the science museum.

What field trip location was chosen based on the voting 
results? Explain your reasoning.

Show your work.

__________________________
What fraction of the class 
voted for the science museum?

____________________________________________________________

___________________________________

___________________________________

___________________________________

___________________________________

___________________________________

1
6

7
12



Daily Word Problem
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Name: E-139

The Harris family is planning to have their annual family 
reunion at a local park pavilion. The pavilion measures 201/ 
feet long and 161/  feet wide. What is the area, in square feet, 
that is covered by the pavilion?

Show your work.

answer: ____________________

Write your answer as a mixed number or decimal.

1
21

2



Daily Word Problem
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Name: E-140

Isaac has 1,260 songs in his music library. He wants to create 
playlists with 45 different songs on each playlist. How many 
playlists can Isaac create?

Show your work.

answer: ____________________



Daily Word Problem

ANSWERSE-136 through E-140

7 × 8 × 6 = 336
3 × 3 × 12 = 108
6 × 6 × 14 = 504
336 + 108 + 504 = 948
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Isaac has 1,260 songs in his music library. He wants to 
create playlists with 45 different songs on each playlist. 
How many playlists can Isaac create?

Show your work.

answer: ____________________

The Harris family is planning to have their annual family 
reunion at a local park pavilion. The pavilion measures 201/ 
feet long and 161/  feet wide. What is the area, in square 
feet, that is covered by the pavilion?

Show your work.

answer: ____________________

Write your answer as a mixed number or decimal.

1
21

2

Andre's class voted on a location for a field trip. 1/6 of the 
class voted for the zoo and 7/1  of the class voted for the art 
museum. The rest of the class voted for the science museum.

What field trip location was chosen based on the voting 
results? Explain your reasoning.

Show your work.

__________________________
What fraction of the class voted 
for the science museum?

____________________________________________________________

___________________________________

___________________________________

___________________________________

___________________________________

___________________________________

1
6

7
12

Kimora bought 5 yards of craft cord to make bracelets. She 
needs 20 inches of cord to make 1 bracelet. How many 
bracelets can Kimora make if she uses all of the craft cord? 
Remember, 1 yard equals 3 feet, and 1 foot equals 12 inches.

Show your work.

answer: ____________________answer: ____________________

Three boxes are being shipped on a freight train. Their 
dimensions are shown below.

What is the total volume, in cubic feet, of all three boxes?

Show your work.

7 ft

6 ft

8 ft

3 ft

3 ft

12 ft 6 ft

14 ft

6 ft

948 cubic feet 9 bracelets

28 playlists

5 × 3 = 15
15 × 12 = 180
180 ÷ 20 = 9

1,260 ÷ 45 = 28

The art museum was chosen because       
is the greatest fraction 
of the class. It is more 
than half.
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